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H B B E X XK R IEE: TERHE2 4 5RGEHBEISE
TE#E2 458
ERER - B8
EREE
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BREIHI T
BEE (&R T ENHIR S 100mm m 1537.8 | 1540
BN AL (TR RE) Dt 10t & RRIEMS. SkmiA T m 153. 154
BEBAET
B EBRBRELE (RM) [t=250mn, EEIFE m | 1537.8 | 1540
AsEigET
EE t=50mm (&R |BAERKEAs (20) m | 1537.8 | 1540
RE t=50mm (RMHE) |HEAsEH I E (20) m 15317. 1540
XE#HRT
XE#HRT
RERHFE (RHE) |EHR B W=150m m 407. 410
RERHE (RHE) |EHK & W=150m m 209. 210
RERHZE (KE) |XFiEs B W=15cmal m 4. 42
RERHZE (KE) |XFis & W=15cmal m 47. 47
RBFEERE
RBFEERE
RBFEERE
RBFEEREB % A 25. 25
BiEIEE
HBRHE FED)
ERE
BEBRRERE EVEBEICL HER (FE) & 2. 2
RiTEEE
TEEHRE Al B LEHRAR BN 1. 1
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EREHEE - B
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BEYIAIT
BREIE] t=100mm (7&FE) BEEDEBEHEELY =| 1537.8 mf
PRE i An 28 DIDWHIESE EMEERE 5. SkmAF 1537.8 x  0.10 = 153.8 m
i m
BEBET
X EEREEE A t=250mm (7RfE) BAELKA HEEEREHEELY =| 1537.8 m
BAEAY FE : 1338kg/100m
(100 x 0. 25m x 2100kg/mi x 0. 025 x 1. 02)
EAELHA - 2703L/100m
(100 x 0. 25m x 2100kg/mi x 0. 05 x 1. 03)
TRARI7ILMHET
EE t=50mm (&) HEMBEREHEELY =| 1537.8 nmi
=B t=50mm (7&FE) HEEBEREHEELY =| 1537.8 nmi
RE#HRT
XE#RT
RE#MHREKE (RMED) E# B8 W=15cm REBRHEEAEELY = 407.8 m
E# & W=15cm RERHSHAEELY = 209.2 m
XFiE B W=15cmitH REBRHEEAEELY = 41.9 m
XFiE & W=15cmi® REBRHEEAEELY = 47.2 m
RBHEERE
REBFEERE RABFEEHEB (&M = 25.0 A
EE
B HERE = 20 &
B EERE
THEEHBE NV A LB HEER = 1.0 &




HEARAENES

TE4: MERE2 4 SHRBEFHETIS

- HEmEIE
B PR 28 FIES HEmE ke

No. 0 0.00 1.35
No. 1 20.00 1.35 1. 350 147.00
No. 2 20. 00 1.32 1.335 146. 70
No. 3 20.00 1.30 1.310 146. 20
No. 4 20. 00 1.30 1.300 146. 00
No. 5 20.00 1.23 1. 265 145. 30
No. 6 20. 00 1.48 1. 355 147.10
No. 7 20.00 1.317 1.425 148.50
No. 8 20. 00 1.40 1.385 147.70
No. 9 20.00 1.30 1. 350 147.00
No. 10 20. 00 1.15 1.225 144. 50

No. 10+10 10. 00 1.20 1.175 11.75
IINET 210.00  [m 1537.80 [m




TE4 : TERE2 4SRHEHEISE

T £ " EERE
TERE2 45§

R e = 15¢cm 209. 20 1 209. 20
SR E £S5 =] 15cm 201.70 1 201.70
SHAIERW iR =] 15¢cm 206. 10 1 206. 10

HANRE XFEE = 15cmiz&E | 3.80 2 7.60

40 XFEE = 15cm#2ZE | 19.80 2 39. 60
AE—FKZELE XFEE =] 15cmi&E | 41.90 1 41.90
&5t e = 15cm [ 407. 80
iR = 15cm [ 209. 20
FELS =] 15emiE | 41.90
Fiiey = 15cm#a s [ 47.20




